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2 15,750
02 PIABAEE 18,000 18,000 0
O =T 20| XA
900,008 * 25 * 80/100 18,000
= 2,250
2 15,750
ONEXEIIZ MUE 23 250,900 174,700 76,200
202 01t 2,000 500 1,500
01 2Uioibl 2,000 500 1,500
O DAS =90 84 XS 2,000, 0002 2,000
203 HREZY| 9,000 6,000 3,000
03 AlZZ=TQ R =Y 9,000 6,000 3,000
O SYLH ZSAH =7 9,000,000 9,000
301 LB AIZ 6,900 3,200 3,700
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O DAS 50 HAX A8t
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02 DINANBE 138,000 70,000 68,000
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O =22A2E X2 3,000,0002 * 13] 3,000
308 XHXIEHH SOIH 95,000 0 95,000
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O S0EREIIS ML &213
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301 Lo 129,240 152, 280 A23,040
= 32,310
2 96,930
12 JIEk 129,240 152,280 A23,040
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= 32,310
2 96,930
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= 1,118,740
12 JIEtE 43 1,598,200 1,396,000 202,200
O St =sHHA THAY 1,598,200,000& 1,598,200
& 479,460
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& 1,990
= 2,985
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& 1,990
= 2,985
02 QIZtBAE X 4,975 16,000 211,025
O AHA =3 datd=sd MEW=s
39,9593 * 249% = 50/100 4,975
= 1,990
= 2,985
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206 T 2H| 20,000 0 20,000
01 T2 20,000 0 20,000
O ASHLH K& A 20,000,0002 20,000
301 YerEA 974,000 698,000 276,000
12 JIEr2 A2 974,000 698,000 276,000
O H 228 AEZIAY 974,000, 0002 974,000
402 212X 0|H 50,000 0 50,000
01 B2 R=EE 50,000 0 50,000
O DEZ & MM HEX Y
3,080,3002 * 33ha * 50/100 50,000
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301 YerEAa 400,000 100,000 300,000
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402 QI2HXHZ0|H 40,000 35,000 5,000
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80,000,008 * 194 * 50/100 40,000
SHIRS SN0 K2 AY 619,492 547,633 71,859
2 309,746
2 309,746
206 T 2H| 619,492 547,633 71,859
2 309,746
2 309,746
01 M=l 619,492 547,633 71,859
O =HIZZ2 =X NBAY  619,492,0008 619,492
2 309,746
2 309,746
AEY ME AR ZHAY 36,000 0 36,000
= 10,800
2 25,200
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= 10,800
2 25,200
01 BZX=EE 36,000 0 36,000
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= 12,600
= 29,400
HSH=MS BRSUAAN 6,080 7,600 A1,520
= 1,824
= 4,256
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= 1,824
= 4,256
12 JIEHR2 AR 6,080 7,600 A1,520
O HBHSUZ BRSAHAAK
152,0008 * 4024 6,080
= 1,824
= 4,256
SIIs% FIITHHEHXI X & 42,000 0 42,000
= 12,600
= 29,400
301 YA 42,000 0 42,000
= 12,600
= 29,400
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= 12,600
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= 32,580
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307 QI2+0| A 108,600 0 108,600
= 32,580
= 76,020
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. * S T\ 2 ° . = (L] 04”:"% Lsa
301 LEtEAZ 6,906,500 7,739,185 A 832,685
= 6,906,500
12 JIEtE 43 6,906,500 7,739,185 A 832,685
O BASSEHAEX=H 6,906,500, 000& 6,906,500
= 6,906,500
ZSEH2(RINE)NJAA 1,588,768 2,781,216 A 1,192,448
= 794,384
= 794,384
402 It THE01H 1,588,768 2,781,216 A1,192,448
= 794,384
= 794,384
01 BIAXGEEX 1,588,768 2,781,216 21,192,448
O ZEZHIZ(KIE) NAAL
1,588,768,000& 1,588,768
= 794,384
i 794,384
ANEEsE=2 s 84 77,000 76,000 1,000
= 20,000
= 57,000
402 212t XH=01 A 77,000 76,000 1,000
& 20,000
= 57,000
01 QAN EEEX 77,000 76,000 1,000
O NHEsE=S s8N =4
77,000,000& * 1JHA 77,000
= 20,000
= 57,000
NSEYN XZBIAM sS4 18,000 0 18,000
= 10,000
= 2,400
i 5,600
307 212t01& 18,000 0 18,000
= 10,000
& 2,400
i 5,600
02 2ItAASE X 18,000 0 18,000
O NSEH zZAIH SLAS
20,000,000& * 1JHZA = 90/100 18,000
= 10,000
= 2,400
i 5,600
AU IHAK LAY 200,000 0 200,000
301 etEA = 200,000 0 200,000
12 JIEtE 43 200,000 0 200,000
O YUXT MAEST EA
2,000,000& * 200ha * 50/100 200,000
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= ASIIY CHYSHALY 1,470,000 0 1,470,000
2 1,470,000
301 LHBAI 1,470,000 0 1,470,000
2 1,470,000
12 JIEHB A2 1,470,000 0 1,470,000
O &= 2SII8 YA
3,000,000 * 490ha 1,470,000
2 1,470,000
RS EICS [V E== 699, 800 831,350 A131,550
= 16,530
2 683,270
SOHOLH AIE R B3 64,000 64,000 0
= 9,600
= 54,400
206 2| 64,000 64,000 0
= 9,600
2 54,400
01 HEb| 64,000 64,000 0
O =9 GHEAIREY 22
40,0009 * 1,600% 64,000
= 9,600
2 54,400
Y2l Y LAY 23,100 17,850 5,250
= 6,930
2 16, 170
206 T2l 23,100 17,850 5,250
= 6,930
2 16, 170
01 T2l 23,100 17,850 5,250
O 2)| AHFY LAN
113,793 + 203CH 23,100
= 6,930
= 16, 170
=I1H ZSAL 612,700 505, 750 106,950
201 Yo=Yyl 300 300 0
01 At 2l 300 300 0
02z 300
— =012 NRAFY =F 24 300,0009 300
202 04t 400 400 0
01 =2Uloibl 400 400 0
O =21 XA HARHE SRl
20,0002 * 20% * 12 400
301 YrBA2 2,000 6,000 A4,000
10 BAHAEI B4 S 2,000 6,000 A4,000
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402 RIAR20IH 610,000 499,050 110,950
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O %&8 =I12 N 500,000, 0002 500,000
O 2T SeSINANUANE SEX
100,000,008 * 192 * 50/100 50,000
O RQIEI| & BAYHI| SYX
60,000,000 * 244 * 50/100 60,000
A0S SLX 6,817,820 4,789,518 2,028,302
2 1,065,900
| 1,400, 100
= 475,830
2 3,875,990
MHESET S& 3,667,000 1,769,500 1,897,500
| 1,366,800
= 205,020
2 2,095, 180
AP0 M AT S 4 ALY 250,000 369,500 A119,500
402 BIR 20| 250,000 369,500 £119,500
01 PIIXI=EE 250,000 369, 500 £119,500
O ShalMat oLiX =
60,240,9002! * 8.3ha * 50/100 250,000
SANSENHAY 3,417,000 1,400,000 2,017,000
| 1,366,800
= 205,020
2 1,845, 180
402 RIAX20IH 3,417,000 1,400,000 2,017,000
o] 1,366,800
= 205,020
2 1,845, 180
01 PIAX=EE 3,417,000 1,400,000 2,017,000
O NS0 SEHLAL
3,417,000,0002 * 244 * 50/100 3,417,000
| 1,366,800
= 205,020
2 1,845, 180
DEI DR MUIIBEY 2,576,600 2,553,668 22,982
2 1,065,900
= 141,940
2 1,368,760
H=E ZW MDA 292,500 272,500 20,000
= 81,750
2 210,750
402 RIRR 20| 292,500 272,500 20,000
= 81,750
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SN HEYSME
HE: A0 SH SN
Celr DEE BB MAIIBES (e
_ _ HE T
SN-EHH . SH(BH) - HPAY - BE2 0ff &+ o4 il b o B2
= 210, 750
01 BIZTEEE 292,500 272,500 20,000
O HU=S M HD
109,000,0002! * 5 * 50/100 272,500
= 81,750
2 190,750
O DHsEMMSREY Ui XA
200,00020 * 200ha * 50/100 20,000
AN NSHHAIL XA 80,000 39,000 41,000
402 212X 0|H 80,000 39,000 41,000
01 pIAXELE 80,000 39,000 41,000
O AL THSHHAL 2XAL
1,307,1802 * 1535 * 40/100 80,000
ANER0 HIHXIEZ AAKR 1,588,600 1,579,318 9,282
= 1,065,900
= 42,190
2 480,510
201 LByl 200 200 0
01 At22relb| 200 200 0
Oz gl 200
— NE0 KA =Z Z4 200,000 200
202 01t 600 800 A200
01 =2Uioibl 600 800 A200
O ANERAUXHAY 7 0t
20,0002 * 3% + 102 600
402 Q12X 0|F 1,587,800 1,578,318 9,482
= 1,065,900
= 42,190
2 479,710
01 pIZTEEE 1,587,800 1,578,318 9,482
O AER0 X B2 22 X AL
76,923,002 * 2.6ha * 50/100 100,000
O X diter ASTE A
1,006,250,0002 * 1.6ha * 80/100 1,288,000
= 966,000
= 32,200
2 289,800
O SWE U2 XA
150,000,002 * 1.0ha * 60/100 90,000
= 45,000
= 4,500
2 40,500
O MUK EAANE XA
152,500,00020 * 1.2ha * 60/100 109,800
= 54,900
= 5,490
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SN dSAsiE
M A0 S SN
Cel: DB JUE MAIIgEY (e &)
_ - P e
SA-ZH - S2A(3AH) - MEAME - HES O &t ot Ol A o8 Hluse
| = 49,410
DAS SRS |54 525,500 293,200 232,300
201 ger2g 200 3,200 ~3,000
01 At2teld] 200 3,200 ~3,000
O = &l 200
— DRSSHRS|L 2
5,0002 * 4% * 10 200
202 ofH| 300 300 0
01 20 300 300 0
O 14AS Sax= 8=
20,0008 * 5% * 3L 300
402 QI+ =0/ A 525,000 287,500 237,500
01 Q2AXE2EX 525,000 287,500 237,500
O F&A DHF WS 2F WAL
6,666,6002 * 123 * 50/100 40,000
O d&d BT LATHHAIE XA
166,666,0008 * 1.5ha * 40/100 100,000
O SIESA JHO0IA MR XIJAY
85% * 235,2900H * 50/100 10,000
O NS0 Ol&SHE A 2| X ALY
1,000,0002 * 50CH * 50/100 25,000
O otorS It At (HILotRA X&)
10,000,0008 * 60S * 50/100 300,000
O HSH &S sXHH S NAAY
4,347,8002 * 23nha * 50/100 50,000
B sHYI| SSAY 30,000 18,500 11,500
402 QI2+X}=0|& 30,000 18,500 11,500
01 Q2AXE2EX 30,000 18,500 11,500
O L&FAE DFHEI| SSAY
2,000,0008! * 30CH * 50/100 30,000
+2ES WAR ST 60,000 10,150 49,850
= 18,000
2 42,000
402 QI+X}H=0I& 60,000 10,150 49,850
= 18,000
2 42,000
01 eIAx=2Ex 60,000 10,150 49,850
O =2 EoHART HSMEA 60,000,000 60,000
= 18,000
2 42,000
SEXg Muxd 422,120 339,850 82,270
= 114,470
2 307,650
S ASHSTHHH ALY 15,000 15,000 0
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2N HEBsaE
Ha: A0.SX SN
o9l SBRE MAXH (Bl @)
_ _ HE T
A E3 . S9(3H) - AR A - BYS Aol il b o HRs2
301 YerEA3 15,000 0 15,000
12 JIEtE A2 15,000 0 15,000
O E2%x THIXE Arel
5,000,0002 * 3ha 15,000
MBS AHA ML J|PHE ALY 20,000 40,000 £20,000
402 Q12X 01 F 20,000 40,000 £20,000
01 IAT=EE 20,000 40,000 20,000
O Y HATHHAL HES AL
10,000,0002! * 4 * 50/100 20,000
SXSTH S S AL 13,000 15,000 A2,000
402 212t XH 01 F 13,000 15,000 A2,000
01 DINTEEE 13,000 15,000 A2,000
O EHSTHHESR BEOHLY X2
1,300,002 * 202 * 50/100 3,000
Saxs FWA MDA 22,350 22,350 0
= 8,940
2 3,410
402 Q12 R0l H 22,350 22,350 0
= 8,940
2 3,410
01 UAEEE 22,350 22,350 0
O S3== AWAHD AY
22,350,008 * 2Z * 50/100 22,350
= 8,940
2 3,410
SHSX ABHS MATX THAY 336,770 237,500 99,270
= 101,030
2 235,740
301 YerEaa 336,770 0 336,770
= 101,030
2 235,740
12 JIEtE A2 336,770 0 336,770
O 8sX ABXS MM ZHAY
336,770,0002 336,770
= 101,030
2 235,740
BLAQWES SR LKA 15,000 0 15,000
= 4,500
2 10,500
402 212E X201 F 15,000 0 15,000
= 4,500
2 10,500
01 DINTEEE 15,000 0 15,000
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SN AEY S
HH: A SX SHX|
Y SEXS MAXY (el &2
_ _ _ Muo
SN -EHH . (B) - MPAY - BE2 O &t 04 Sl ko HRE2
O BLARWBZSLTAIL NS AL
1,000,0008 * 30ha * 50/100 15,000
= 4,500
= 10,500
FTA 23 23 AY 152,100 111,500 40,600
Il 33,300
= 14,400
= 104,400
FTA 222 A5HAY 70,800 71,500 ATO0
202 (4Hl 800 1,000 A 200
01 =AY 800 1,000 A 200
O FTA ZHAR DAY FZ
20,0008 * 5% * 82 800
402 21t HE=01M 70,000 70,000 0
01 222 EX 70,000 70,000 0
O FTA 2R 28 B=MAAILTRAL
140,000,00020 * 1ha * 50/100 70,000
DSEMAMAIL SUHEALY 80,000 40,000 40,000
Il 32,000
= 14,400
= 33,600
402 PI2ERHEZ 0| 80,000 40,000 40,000
| 32,000
= 14,400
2 33,600
01 PIAXZLE 80,000 40,000 40,000
O B4 DEIAL HOBAIY
160,000,000& * 1JHA = 50/100 80,000
Il 32,000
= 14,400
s 33,600
FIAJIZ NSRS £ 1,300 0 1,300
Il 1,300
202 01t 1,300 0 1,300
Il 1,300
01 2Uoit] 1,300 0 1,300
O FTA NI XSS E 4 2 22l
1,300,000& 1,300
Il 1,300
HeSS(MeYsig) 100,000 500,000 400,000
LHEHHXI = 100,000 500,000 2 400,000
JIEtSIH ME= 100,000 500,000 A 400,000
701 JIEtRI HE &= 100,000 500,000 A400,000
01 JIEtSIHEES 100,000 500,000 400,000
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